
6,
<. 4)

nb)- = (x+s)(x+3)

:

>{] (x,-€

?'{n)= \(xne) +- t(x*e)
= a / x r--2,\*>t \ t\ " /

?(x) ,- (x--7)3
= (x -?) (x -r) (x --t)

z\
\X- t)

\

?\r'.-\, t^,l -

/1 /el(D= \

r/ra\ tx --?)
'A f , --ra2JLX- I )

2_

2x -e)

a).L>,- )
L

B -nA!- Cr\n'a"\n R$(JL

!l
I n txgtlqahr urz-'

-

?(x)= (x
(x +a)

\

(J'(x) = (}-h1i, * (2)(2x-a)
--:/-

I [r; ( z>-.tf 5l '"t-.,-,oxp6.,"-J- \

a
/ :,L.

tX-z;
2 (x -r)

r 4 t. ..-42-t LlY,- l)

-- (zx- jr\(z>-!'

2x_3
z

#r-r)t= 5k-rt

e t'*o Q.'rA
e 'JSI 5c gJ C't")

Q'k) 'z(u4)



: .L(bx+-t )
u---r7-=J

tA

I't9
T

2,-

Crr) = (bx-\)"
i

( u x *r) Sa ( tpru,\ )'
ie Z(pfjj)'k

Q,'t*1 =
, ,z| /. \ z- /'t / / | . \

,$(bxf\J. +'L',U (kxnt ),---('--- 
----------\---\_-/

rC'\ t, \ a I l, 
- .- 

, \2U [X; : .5 ' [e ' L{.OX +-LJ
' 

^ 

ft \Jz-\r'< r

€2.g '-r\' t^

C ha'. Rvtq-

?o\IHM f Vra"., rvV I

S cx) = L\^ ,e,\u,v< u

{'(*)=fl oLA^-t'\,^'

lA= bX +\

is a*lO x

( n.oL;Os+ oLr'

\,v.-r-"r'l

X 
, fr'a '*,, rt

IJ

txo*pu 1 ,t)V 1v CM'' ()t l'.',)

d.zutvAu<

A) tcx)= (t"-2'/ *'l )n
{'rx) =5(x'- z>+-' )n. (z-x-z)

B) 3(K): (s'.,2 + 2..x' -\o3ur)'t

o5(x) ' \? (srirX * L**\o3r/ )'t'(tus>

c) hcx )=A 1+i -3x +\a,.")''

^\\
V-,'Cx) '3.12- (t-; -5* -"6,.x) . ( \.1xb-:

/r"r^'4

^.2 A IX - zx +-t
.) a1L -/_

U=-Srnx * 24-L ltrl ,X
u'= 0tlsxr-! x * "\ 

-
+u,'h) X\ns

v- 2t- - Sr +*anx
u'" \u1 f -1 * 3<_utx

r<ec'X. \/

l"rC

ll.=
t



l'3' 3.,r,\,, A^r,

? (x) -- oin ( 3+J ) u = bx"-1
o"'t', \,rt= (JX

Cu\Si r\r =' $) ^ "
? (x)

EOO = San ( Bf - 5x *3) !\= 8^t-5x +]
\.r''= L\\Z -S

E' h) ' $'e cz ( Bxt- S\ ,-3 ) " 
(?\*'-s)

;ffi-*r" - alt:il c'ts"'dt'"\"'''

,rj
Rt X; = 3iln3( 3x')- f Srn L:>;'-\'€r.1jv'.t '>' U = 3x' c *='S'r\ "

= (,3,n (ax.) )- u'-- (ry

-.-- v $ [s',"' f zx'I =c'x(s)e) ' (ox

, 6tx L-' ' -l
K(x)= ? Jl'-J*"!. -7"?*) 

^:,: ; - ,,. 1 3\_:)
?ct^r".r >'{:"- c't* 

V,.(,.L(3>3), (_gX

(Ic*) = tanl((ax-t)
T {,q .,', -*-2 5e L- ( t, )

etr) + (+o, (b,-t) )t 'elet'((or ^t ) . Ul o u" \ --' G

Wt"r)-cos'(qf*\",2r) ?:t- i-- -l( )"
N'(x) .-? (cos (r'*l+i'"9)u's,"(lx'lay) '18"'*) 

i, !p1,), : 
ti,*',



r ',rQ('*,')

{arn(
kr-{

-)

)-a
-t

Q(r)' tu^n (tox+; .(')
YOvx,r'
Trt o :

nt.r^qLt
U

0"'rx) -- '1 (iu,^, (bx-{))t . $eJ ( bx - r ) . (e

= L{ \arnt (tox-t) " 5ef ( tox-t) " to+ = 71 |anlUx_r) .sec,.(tox_t)

= 74 +e."(t x-t) \€n)(tox-r) +

Cltan "' T{J,A

.aLt( t
.^ llrv.L (

U

2+ 3tvrt( tor-t)

Exa^fu L'. Usrn.g {^l
A) F'no[ +\^o gfrua\n^

U=(tx-?)t 
v a,f

)) "'i-
,.,rv$f'x"-+t\-6X

{a"' -- g rn = oto,,v ( s**"b lu n r *-)
hor= -*, (*,1)

1s !,.,or (x, 5) b ( z)= (Zo>-t )t = - L1 g= Uu-
( t,:it) v v 

.]'.- uu''u

(,1'= 7 1.2-x 'l )L o 7
J \-z-:f-rt.,\ u-

b'(r) = b (ztz>-lY

, 51 G- 3\opr 4> M:fd W

1 e* -Y' 

' ?-"

f.r:E5(tsx -t)

o | +t".L NnPvnAf Lrny-V'-r
4, =L

I-0

L"' {-.^a

3* {,nd p,on tr.ol s\,q{ hon= ?
n6*= 5tl

n= -IE t1

+ ffoon = -b/q

+ rnno.,' *, - \/sq

["i;::#(u-z\

:=-t" j

L{{" tih rv aan : ( t, ^zt\



h""
\k'- )*

B) Lr-rn'+c fxr %A* qb
{= /_aj3 a*tv \r,\ )

\int nw,^^^J +")

(L,B)
LP';'

( o\ (x-! .!)tz)
Cx-t )

= -Lw
\'=3( L t'./=a-\.-J \(*-D,/-\(x-r;z /\/_# L.^..-._J(,t tA\

2-

3'(r) = 3 ( -z \ ( :2_\v \-\ )(rry/
= 3(tt)(-z)

t'(a) = -21 <' t\qfl {Ig

\

hn*= 'l1-'
in-L2 A-D= 2\

J
( x -z)

R"tr€x 3: Sh.cnr{cr'} -AM flua\t
g- .ry-! =(1x-\).9{at\' 3tr-1

bx-\v-l (gx'-lt:
2 N) _\ (3x"-1t". ((pr)

2-$*"-t i' + (-txsv "--, >o(bx) [2x:r)

p"i e)Jgd=frt)
Gr"{) (z*-D (e>*-r)'

2(gx'-r) - (ox)(2*-r\
(3.Y"-1 )'

\ r"'.r \€ 3 oi X--Z

/*

G.)
. .\

2,(x-t)\v

2 ul (x-' )-'
.A' -zw



3" --

€xt, I

A) U=

B) q^,\ 
$'

_tHx
_l11rl

USr t\, C\crrn v '/.,t,

Le : t-o (er. -rf
tax{t
b(:q)(3x'-r )t(tox\

3(a-1
---'7-'

lL1 |

s'
tl t
J W= _ trl\x

6,-q'
a

It tr-\--r..b
\-LJJ,/

)o ;t*:,,1 0*
U*'^fe"lr)
( av1\ )" - ( ro2.

(-rq'f( a*-rr - (gox) ( -rqtx\

'--1q{

Cax"-\)'" ^ . (-!(3Pf,Q)'-\)



:
:

:l

:

:

ts)

c)

3q

(t

Lx5" Us.r tr* \auV lll {,n,rj.

z
-q

C,ov w

h,\ (2)

l-----1IZ \t< \

"*l,3Scx) 
+ g"(x) aAv. L (q

L.'

wa'.* f\(Z)

rrx) ' a S(x)
r'(x) = 3'{'cx)
r '(z; 3 3'$'( z)

= 3,( t)
?l

=-\l

)2tJ

S,n2( x)
'= $Oi '3 c*)

3x-r I

\lo-

Lw
B

3

n
I ^ /. \J J tx-,t ='(z*'tri

A\ 2'Qrx) wonf' 
Ut) = 2:4g) {,not
\---, _--\-.1-_,

h'(x) = z q.o.)

\'( z) = 2'{'(z): 2'(t) =

r rZ,- (tcx)) 
,-rr 2 ( 3c-; )' .3'rx;

\ Lqe) '1'(z)
+ 2(z )(:j )
+ -\2

8s>cllfifx,
1>o q
b \2Tl

r. - qoi
6tx,r =-- {'(x)

ol'(X) = t(
'Q l(x - L' f,cD , {'(x




